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History
Worksheet 5 - Answers
Resource Interpretation Exercises:
Resource I: Use the following resource to answer Questions (i)-(ii).
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Q) Identify the law depicted in the above newspaper headline and explain its
implications on the Jewish people of Germany.
Answer: Nuremburg Law, it took away the rights of German citizenship from the
Jews living in Germany.

(i) How did the above situation affect the demography of population change in
Palestine?
Answer: This led to an increasing number of Jew fleeing from Germany and settling
into Palestine as they considered it to be their promised land and to escape the
persecution from the Nazi regime in Germany.
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Resource I1: Use the following resource to answer Questions (iii)-(iv).

The British Prime Minister promises that there will be peace in their time after returning
to London from the Munich Conference.

(iii)

(iv)

Name the British prime minister in the above photograph and identify the document
he is holding in his hand.
Answer: Neville Chamberlain, he is holding the Munich Act

Briefly explain what did he mean when he said “there would be peace in our time”
and state as to what extent his version of peace was materialized?

Answer: He felt that he had succeeded in appeasing Hitler by making him sign the
Munich Act promising peace, therefore preventing a possible war. However, his
version of peace was never to be since Hitler broke all his promises and continued his
acts of aggressions leading to the failure of appeasement.

Resource 111: Use the following resource to answer Questions (v)-(vi).

(vi)

The Allies in
wWw 2

Name the 3 countries which were prominent enemies of the Allies.

Answer: The Axis Powers — Germany, Italy and Japan

By making close reference to the map, give a reason for the victory of the Allies.
Answer: Geographical isolation where each Axis Power was distanced from each
other and the Balance of Power, especially with the entry of the USA on the side of
the Allies brought victory to them.
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